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1 [Iweart javax.microedition. ledui.#50 - TWport java.util.«;0 -
% import javax.microedition.midlet %5l o % import Javax.microedition. lcdui.*;l T
4
g public class RayTest extends MIDIet {1 f51 public class RayTestCanvas extends Canvas implements Runnablef{l
1
g i static RavTestCanvas cil g +»  final int SLEEP_COUNT = 30;// msl
7l N
. gl long CYCLE_TIME = SLEEP COUNT;// 1 T« 2 )L & 7o WD EFRT.
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T [package com.taito.android.raytest;s ] é ?ackage con-taito.andraid.raytest ;. =
2| , Lo 3 [import android.content .Context ;i
3|import android.app.fctivity;l 4 |inport android.zraphics.x;l
dlimport android.os.Bundle;l 5 limport android.wiew. Wiew;l
Olimport android.view.Window;. G [import android.view.KeyEvent ;.
B[ Tlimport android.graphics.Canvas;.
7 |oublic class RayTest extends fActivitwl g import android.graphics.drawable.Drawahle;.
.
g J{,J’ }? import java.util.s;l
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1limport java-util.x;L E7[+ = if{action == KEY_STARI {1 193]+ » iffaction == KEY_POUND] [ -
2 | import Javax-uicroedition. lodui 3. h - allkercodeore 1= 0x00000400 51 132 llkevcode iz 8= OXFFFFFIFFLL keyPressed() . keyReleased() —>
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t51 public class RayTestCanvas extends Canvas inmp ;? s s if(ac{liﬂﬂ :dKEV_NU'Iw)DhUUUUUUUI }g% +H 0)’( ~N > l“ U ZT_W'C
4 o+ o+ allkeycode_orz |= Ox H) ! — g =
|- final int SLEEP GOUNT = 30:// msi ) SR 138> public void keyHandler () {. al lkeycode_org M7 5 5 Hl#Z {70
T Tils = iffaction == KEY_POUND){L 139+ +  allkeycode = al lkevcode_org;l
8|+ long CYCLE_TIME = SLEEP GOUNT:// 12| T4+ + » allkeycode_ate |= Ox0000080050 140 |3 9
91+ long startTine;// JLIZEHIEERZL mle s h 141 |+ » fi(al lkeycoded0x0000000T) == 0x00000001) {/7 o4 —u
10|+  long passTime;// MIB|ZAde - F-BFREL Tl 1 142 |+ » 1
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+ int allkeycode_org;t 78|+ public void keyReleased(int keyCode) {1 L I3 T 4E R 3
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» int action = keyCode;. a5 [+ B if (action == UP) L * * al lkeycoded0x00000020) == 000000020 54— S [
an | @8-+ - Tallkescodeors &= DxFFFFEFFF;. | 192) -+ 1 SESKIICLET
E N |f(act|0n <y F-bLE-lFTaF arls s L 153 [+ + fi(al lkeycode&0x00000040) == 0x00000040) {/7 6% —1
Lo, s setbamsctimntostiiers | L o - e BEL 0 (el Ikevoodestxoonoonso) == xoononnsod /7 7%
* * + aa [+ » * allkeycode_org &= O0xFFFFOFFF ;L * * al Tkeycodedllxl == [l TFE-L =, 4+ - = A
341 11 S - gL h KEIL—THATEEXF—TIV %R
gg P |f(acHEn “d | 000010005 s+ iflaction == FIRE) {4 }gg LR f ({al lkeyeoded:0NO000T00) == 0=00000100) {7/ &4+ —u —CMEE%,_ < %b\it\i'ﬁ'ﬁl
+ + + allkeycode Urg = lx + 421+ + + allkevcode_org &= OxFFFEFFFFiL i L
7 - b e - 159 [ > if({allkeycodedDxD0000Z00) == Dx00000200) [/ @4 — 172
28|+ + iftaction == LEFT) q4( = iffaction == RIGHT) {4 160 |+ + 1
gg EE ; al lkeycode_org |- 0x00002000; 4 95| » »  allkevcode org & OxFFFFEFFF;L 161 [+ f ({al lkeycodedx00000400) == 0x00000400) {// STARS —u
> 96 L 182+ 1L = e . + 1B A
ap ﬁ(acHEn "dFIR T N Ef faction == DOWND {o g F sl Ikeycodes0x00000800) == 0x00000800) {// pouno— — 0D 3 FiEF—Z#HW LT =5E
>+ » allkeysode org |= O . 9g i 1kevcod &= OxFFFFTFFF 5L o b - - S
I s ;g allkevcode orz b= ieah DUEBEERT BICEEET>TUNE
i+ if(action == RIGH W0l - ifcastion == KEY_NUND) L 168+ +  if((allkeycoded0x00002000) == 0x00002000) {// =31
350+ allkeycode nrg I- 0x00004000; 4 101+ » allkeycode_org &= OxFFFFFFFD;L 167+ + 1o 'g_
1< . 1 mzls = 188+ » else if ({al lkeycoded0x00001000) == 0x000010000{// E&
3¢+ o+ iffaction == DOWN) 105]:  » if(action == KEY_NUMZ){s 189+ H
gs P ; al lkeycode_nrg |— M 00NR000 ;4 104+ » +  allkevcode_ore &= OxFFFFFFFE;L H? LR ?Ise if {(al [keycodedx00004000) == 0x00004000){// &£+
P 1 105 P 1
j? s s |f(ac*|.ign ::dKEY NUllll 6{ 00000002 10 I E f(act fon == KEY_NUM3) {1 H% L ?Ise if ((al [keycode&0:x00008000) == 0x00008000){// T+ JSCLG)
+ o+ +  allkeycode_org |= Ox . I . sos b q q
LA T o el oy, evcodesrs &2 GEFFFFEETL gy 0 olse 1F C(al IkeycodeddXONNNA0NN) == XA0NI000) // getDeviceState (DeviceControl. KE
+ o+ iffaction == FR == 179 - 1
iéi F ; al lkeycode_org I- 00000000434 }?g I :f (agmgdeEzrg ﬁi)g{iFFFFFFEF” Hg v ?Ise if ((al Ikeycoded0x0000E000) == x0000G000) {// &+ Y STATE) | bDOJaG)
o h il > b s =
A8 [+ o+ iftaction == KEY_NUM3) {1 == 17 [+ +  else if ({al |keycode&x00009000) == 0x000090000{// ETF
Gl iTtaction = KECNMEL e Lzl o et e esmb R lgetKeypadState ) | E DE#MEZE
48 » nalk - n 180+ else if({al lkercoded0x00000000) == 0x00000000){// &F Y b@'l;"(“@'
48+ - |f(actlun == KEY_NUMW4) {1 G+ »  iffaction == KEY_MNUMGI{s JE 1 B . ¥ .
g? » o+ o+ allkeycode_org |= Ox00000070;. MEls = »  allkevcods org & OxFFFFFFEF;L }S% L ?Ise{// TR EINT AL
v 17+t B ook
Sl - iftectien = REY_NUMG) L1 118 » if(action == KEY_NUNT) {1 184\ ) .
gi L ; al [keycode_org | 0:00000020; 4 19+ + allkevcode_orz 4= OxFFFFFFTF;L }Sg i ;f((al Ikeycoded0=x00010000) == 0x00010000) {// #EF—1
oo 2al- o+ oy,
86|+ +  ifiaction == KEY_NUMB) {1 - 187+ h
38l -+ allkeyeode ore |= 0x00000040; 1 (agtliEgycudEEErgugga)éxFFFFFEFF;L 188 |1 i )
gg LR f( 0 KEY_NUNT) o 123 » 1 }Sg + public void paint (Graphics z){.
s+ iffaction == . N
By, 3 kevoode ore = U<000000S0: ] SR e i vy bl s A CLITRTOREREC
vl 126+ L - N
Bl |+ » iffaction == KEY_NUMS){s .. - 193+ +  keyHandler(j;.
By &l lkevcode o7 |- U+00000100;+ il oo (agtliEgycodEEErngR)D{xFFFFFBFF;1 el
s 1290+ 1 B M
Ba|+ » iffaction == KEY_N 196 |4
g5+ -+ allkeycode ore |_ Stononozonse | 130 g o (agﬁ;ﬁgyggdﬂrg QQ)D{;FFFFFFFE.L 1573 oublic void run(}{
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200+ int allkeycode;!
g; + int allkevcode_org;l
n
73|> public RayTestV¥iew( Context context ){i
gé =+ super( context )il
4
281s S/ IOV T —ARER Y b (%R
Z7lp  +  setFocusablel true )30
P A
29 L
300> @lverridel
31|+  public boolean onkeyDown( int keyCode, KeyEw:
32 s+ if (kevCode == WeyEvent .KEYCODE_O) {1
33> » -+ allkercode_org |= 0x00000001;4
341+ +» +  return true;.
s - 4
38> » else if(keyCode == KevEvenl .KE¥CODE_1] {1
37+ + »  allkeycode_org |= 0x00000002;4
3+ + +  return true;.
LN EE 4
40+ else if (keyGode == KeyEwenlt .KEYCODE_2) {1
41+ +  »  allkevcode_org |= 0x00000004;4
420> » s+ return true;:
430 4
441s +  else if (keyCode == KeyEwent .KEYCODE_3) {1
45 |+ » » al lkeycode_org |= 0x00000008;4
481> » -+ return true;:
a7ls - 4
48 s  else if (keyCode == KeyEwant .KEYCODE_4) {1
431+ » -+ allkercode_org |= 0x0000001034
0+ + +  return true;.
s - 4
52+ » else if(keyCode == KevEvenl .KE¥CODE_5) {1
53]+ + » allkeycode_org |= 0x00000020;4
Eé + + + return true;s
. n
8+ + else if (keyCode == KeyEwent .KEYCODE_B) {1
87+ + » allkevcode_arg |= 0x00000040;4
88> » »  return true;:
99 r 4
60+ + else if (keyCode == KeyEvenl KEYCODE_7) {o
Bl |+ + 3 al lkeyeode_anrg |= 0x00000080;4
Bz1»  + =+ return true;.
63+ 4
B4)s s else if (keyCode == KeyEwent .KEYCODE_8) {L
B5> » -+ allkercode_org |= 00000010034
66|+ + + return true;.
BT s+ 4
88> » else if(keyCode == KevEvenl .KEYCODE_A) {1
B3+ + » allkeycode_org |= 0x00000200;4
;? + + + return true;s
. n
72l + else if (keyCode == KeyEwent .KEYCODE_STAR
T+ + o+ allkevcode_arg |= 0x00000400;4
H4ls » s+ return true;:
N
T8+ + else if (keyCode == KeyEwent .KEYCODE_POUN
T + 3 al lkeycode_org |= 0x00000800;4
e+ +  return true;.
9 - 4
80+ » else if (keyCode == KeyEwent .KEYCODE_DPAD
81> » -+ allkercode_org |= 0x00001000;4
821+ + +  return true;.
g3+ =+ 4
84> » else if (keyCode == KevEvenl .KEYCODE_DPAD
85 + » allkeycode_org |= 0x00002000;4
66|@ +» + return true;s
e
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+ else if (keyCode == KeyEvent .KEYCODE_DPAD_RIGHT] 186+ + ¢+ return true;. 2204
+ o+ allkeycode urg |= 0x00004000; 157 = 4 249 |+
+ ¢ return true;. 158+ »  else if (keyOode == ReyEvent.KEYCODE STAR) {4 286+ o+
+ 1 158+ o+ allkeycode_org &= Ox00000400 ° OxFFFFFFFF;L 237 |4
+ else if (keyCode == KeyEvent .KEYCODE_DPAD_DOWN){.| 160+ » =+ return true;. 238 |+
+ +  allkeycode_ore |= 0x000080005 181+ = 4 229 |+
+ +  return true;s 182+ »  else if (keyGode == ReyEvent.KEYCODE_POUND) {1 230 |+
» 4 183+ o+ allkeycode_org &= Ox00000800 ° OxFFFFFFFF;. 231 |+
s else if(L 1684+ » s return true;l 232 |+
EI (keyCode == KewEwent .KEYCODE_DPAD_CENTER).| 1B5 [+ = 4 233 | i
+ + || {keyCode == KeyEwent.KEYGODE_NEWLTNE )L 188+ » else if (keylode == KeyEvent .KEYGODE_DPAD _UP) {1 234 |+
+ 167+ + +  allkeycode_org & Dx00001000 * TxFFFFFFFF;. 235 |+
+ & allkeycode_oreg |= 0x000100005 168+ s s  return true;l 236 |+
+ ¢+ return true;s L 4 237 |+ i
» 1700+ » else if (keyCode == keyEvent .KEYCODE DPAD LEFT){s | 238 |+

17+ +  allkeycode_org & Dx00002000 * TxFFFFFFFF;. 239 |5
+  else if (keyCode == KeyEvent .KEYGODE_SOFT_LEFT){.| 172+ =+ + return true;s 240 |-
+ o+ allkeyeode_org |= Dx0002000054 173 . 4 241 |+
+ +  return true;s 174+ »  else if (keyCode == ReyEvent.KEYGODE DPAD RIGHT){ | 242 |
* + 175+ o+ allkeycode_org &= Ox00004000 ° OxFFFFFFFF;. 243 |+
+ else if (keyCode == KeyEvent .KEYCODE_SOFT_RIGHT) | 176+ » =+ return true;. 244 |+
3 > al lkeycade_org |= Dx00040000;1 177 |+ B 1 245 |+
+ »  relurn true;i 178+ » else if (keyCode == keyEvent .KEYCODE_DPAD DONN) {1 | 245 |4
* 179+ + allkeycode_arg &= Dx00008000 ° TxFFFFFFFF;L 247 |+

1800 s s return true;t 248 |+
+  return super.onkeyDown( kevCode, event );u B o+ h 2481 b
1 182+ else if(L 250 |4

‘ 183 = (keyCode == ReyEvent.KEYCODE_DPAD_CENTER). | 281 |+ @Overrides
@Qverridel . 184+ s s+ ||(keyCode == KeyEwent .KEY¥CODE_NEWLINE). 252 |»
public boolean onkeyUp( int keyCode, KeyEvent event | 135> f 353+ o+ ALIBRAMSE|CBREIF L]
+ if (keyCode == KeyEvenl-KEVCODE_D)iL 188+ + + allkeycode_org &= 0x00010000 ~ OxFFFFFFFF;4 254 |+
+ ¢+ allkeycode_org 8= Ox00000001 ° OxFFFFFFFF;4 [ 187+ + +  return true;s 255 |1
+ ¢ return true;i LN 2586 |+
+ Lo 189 [+ 257 |4
+  else if (keyCode == KeyEvent .KEYCODE 1) {1 180+ else if (keyCode == keyEvent .KEYCODE_SOFT _LEFT){s | 258 > -
+ o+ allkeycode_ore &= 0x00000002 © OxFFFFFFFFSL | 181+ = allkeycode_org &= Dx00020000 ° DxFFFFFFFF;L | 259 -+ allkercode
+ ¢+ return true;. 1921+« return true;. 260 |+ + N FI
* Lo _ -GN O F 261 |+ keyHandler();u
»  else if (keyCode == KeyEvent .KEYCODE 2) {1 1841+ »  else if (keyCode == heyEvent.KEYCODE SOFT_RIGHTI{ | 262 |1
+ o+ allkeyeode org &= Dx00000004 © OxFFFFFFFFL | 185+ + ¢+ allkeycode_org &= 0x00040000 © OxFFFFFFFF; oI+ o+ A4 iEEL
+ > return true;. 196+« :  return true;. Z64|s o+ repaint();e
* b [ R Il h
+ else if (keyCode == KeyEvent .KEYCODE 3) {1 189 |4 EEE
+ + allkeycode_org &= 0x00000008 © OxFFFFFFFF34 | 1989 |s  +  return super.onKevUp( keyCode, swent JjL 267 |+ private void repaint ()1
> s return true;. 200 Ju el i
* Lo 201 |+ 260 |+
+  else if (keyCode == KevEvent .KEYGODE 4) {1 302 bl i id keyHandler(){.
s 5 allkeycode oz 8= CxU0ODDDIO - DaFFFFFFFF:L | 503 s & "(‘{g:|ke‘3§nz';&u§5mmm; = ooy i 04| o 0 Imalidateln
+ ¢ return true;. 904y s 373 s (W{
. n ==
T alse if tkeviods == KevEvant MEVCODE 5) (1 ggg - Et(alIkeycude&DxDDDDDUUZ) 0x00000002) {74 14 g;i - égsé%?fl
» o+ allkeyeode org &= 0x00000020 ° OxFFFFFFFFSL [ 207+ if ({al lkeycodedDx00000004) == Dx00000004) i/ 24| 275 [,
+ »  relurn true;t 208 o+ N N S %
M Lo 09 - f((al lkeycodedx00000008) == 0x00000008) {4/ 24| 277> » » §f({ 0 <
+ else if (keyCode == KeyEvent .KEYCODE 6) {1 a0 s - n 78]+ o+ = iry
++ allkeycode org 4= Qx00000040 © D=FEPFRFFRSL | G110+ iF((al Ikeyoode®80n0OO0OO10) == Dx00000OTO) {74 4 %) 2yg)s  » +»
» > return true;. 319 |» B n 280 |+ 3 N B 1
+ 1 ==
1 else if (kevtods == KevEvent KEVOODE_T) {1 g}i - Et(alIkeycude&DxDDDDDUQD) Ox000000203 {74 54 gg; R gﬁu
» ¢+ allkeveode org &= 0x00000080 ™ OxFFFFFFFFSL [ 9150 o if((al lkeycoded0x00000040) == Oxo0DOODA0}{// 64| 283 .+ .+ o
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